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63. D\saBdngnnumbersuchthattheratio 63.0@‘&&?&!’(!‘1’#@““"\'&&
of the number to the sum of its digits is least. HE &1 ITP HB! & AN V FFU FAdH
What is the difference between the digit at mmmtwﬁwwa&zmt
the hundred's place and the digit at the unit's mwotwtﬂaa&mmtv

placeof D? UPSC PT 2023
a) 0 @3 a) 0

b)'l b) 7

e 8

) d 9




73. A box contains 14 black balls, 20 blue balls, 26  73. {3 f8& & 14 &elt 712, 20 et 71, 26 8 712,

balls, 28 yellow balls, 38 red balls and 54 28 el 713, 38 @A 71 ¥ 54 Ut d
green balls, 28 yel SUaRls ‘ﬂﬁ{fﬁ_

white balls. Consider the following statements:

1. The smallest number n such that any n balls 1. ﬂﬁmﬂﬂmﬂnﬁﬁ
drawn from the box randon ly must contain one WK arﬁftawﬂn_ﬂ_m ‘mmw
full group ¢ 175, A &, @ n Bt

2. The smallest number msuch that any m balls 2. urzﬁm ﬁ{ﬂmﬂij}!m
drawn from the box randomly must contain at PH US ifz
least one ball of each colour is 167. ~ qEWR, ahmuﬂaganm1s7

Which of the above statements is/are correct? mﬁmuﬂﬂﬁuﬁa—mﬁ wetgse?

UPSC PT 2023
a) 1only a) $ad 1
b) 2 only b) $aH 2
¢) Both 1and 2 ) 13R 23t

d) Neither 1 nor 2 d) Ad@13ad2
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78. 40 Ah%n are (s‘tlallding in a circle and
one of them (say child-1) has a ring. The ring
is passed clockwise. Child-1 passes on to
child-2, child-2 passes on to child-4, child-4
passes on to child-7 and so on. After how
many such changes (including child-1) will the
ring be in the hands of child-1 again ?

—

UPSC PT 2023

a) 14
%

c) 16

d 17

|6

22

253
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78. 40 TR JATSR ¥Y A t«mma?
@ g, T=n FHIE-1) F U (@ S 8
39 O B Soad fow d AT g

) fFar arar 81 = PHIP-1 39 oo B
T PHP-2 B! UTH BId1 8, T PHIS-2 54
T PHID-4 B! UTH $Id1 8, T PHIH-4 T4
T PHID-7 B UTH SIAT € R A P A TH
i et i
PHD-1 q1¢ 98 ol

a1 PHID-1 P g4I H g 2

a) 14
\ by 15
c) 16
d 17
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CLOCK

4) Between 5 and 6, a lady looked at her 4) 5 3f¥ ¢ a0t & 19 v® wfgen I T g
watch and mistaking the hour hand for the g3} gv ud} 3R IH3 w2 ¥t ¥g ! e #t
minute hand, she thought that the time  u¥ wwg forar 3R I/ & b IaF UL 1
was 57 minutes earlier than the correct mwﬁmﬁ_s'] firae ygd 8, ot Ty

time. The correct time was & Faraug gt |IUT?
\A‘{u minutes past 5 \a)~ 5 auav 24 e

b) 12 minutes past 5 b) 5aw®T 12 A=e

¢) 36 minutes past 5 ¢) 5aqu®T 36 =T

d) 48 minutes past 5 d) 5du®Y 48 fie










T
CLOCK

5) The minute hand of a clock overtakes the 5) U® U3l &I e &1 ¥g We 90y & 76 fA=1e
hour hand at intervals of 76 min of the & 3V W Ue F! ¥ & Aradt 8, ot aagu

correct time. How much does a clock gain ¥ a8 U3} vs @9 # o= aw a1 4+t v
or lose in a day ? garat g ?

a) 198 min (loss) a) 198 fi=e (didh)

b) 198 min (gain) b) 198 fiFe @w)

& 199 169/209 min (loss) '©)199 169/209 fire (i)

d) 199 min (gain) d) 199 fi=e @w)




Unit Digit




1. Consider the following Statements 1. FRufeafes sy w far a1

I. ‘X’ is the Unit digit in the expression l. X D 256251 + 36 528+73$4 H g8
256251 | 3528 | maS4 3 B Jg 2 2_@

Il. ‘Y’ is the unit digit in the expression II. 'y’ fy oiw® & wrt awt 49237 x
49237 x 3995 x 738 x 83 x 9. 399? X 738l x83x9

ERA2GEN T p
a. XandY are Prime numbers. a. Xéﬁ?vmmm
\/b./xgsequaltov. \yivtmtl

c. X equals to 5" and Y equals to 0 c. X, '5' P aan ? MR Y, 0" () &

(Zero). T\'TT\'?I

d. Xis not equal to Y d. X, Y& aER T8 g



2. In the expression 13%, the value of unit 2 mn{ﬁmwmmﬁaﬂmb
g

digit. g3
\323 LY ¥a9 9@ x §9 & dl §PR 3% fRum
. Only when x is even, the unit digit will g
be odd. \ymx4mwﬁ,a}mwm1
Il. When x is a multiple of 4, the unit dlglt gy 3
will always be 1. ’é )3 1) 578 x=7, TBTE 3 4§

lIl. When x=7, the unit digit will be 4. 2% ,__57 IV OId x=21, TIPS AP 2 ml
IV. When x=21, the unit digit will be 2. 3 a. mm|ah'{||wﬁt|
a. Only Statement | and Il is correct c.( b. Fad HYT I 3R 11 T T
b. Only statements Il and lll is correct —J’t,) \}/ﬁ'ﬂm ] wﬂtl
\}(6|1ly Statement Il is correct 3 = d. FIADIYTIATIV el tl

d. Only Statement | and IV is correct




3. What will be the unit digit, when product 3 g gyg 10 WiPHd dJEnet & UL | G|

of first 10 natural numbers is divided by 100 ¥ fwfora frar oo &t 31 i &0
100. gIm?
\%%yzxv X & XEXFXE
e .0 X' X0
b.2 . RIS~
\7 B '/—OQD\,—I)D
> | : lxgx‘méx}xm
XX D \/ oA (7

P € 9



4. The Unit digit of the Product (4387)5 X 4. T[UI (4387)25X (621#51;‘51{ 3T ‘A’ %l

(621)*is ‘A’ (x is a positive Integer) (x TP YATHD ‘{Ulf!‘ ?) -
Statement | - A will be Constant regard less m\y:xfhnwt ar%xmgmﬂ’hm
of values of x ﬂl

Statement Il - A Will be diffec@ for  WUAIl - A x' & faftm vt & g fim
different values of ‘x’ 3

o | P

\}/{lyStatementlistme. :}l x@ \}/éml'ﬂﬂ%l

b. Only Statement Il is true. b. $Iq YT T ¢!
c. Both the Statements are true. ?")( ) c. I BYTIAA !

d. None of the Statement is true. ?5/ d. &% Wt Fy=7 9 T8 2}






5. The Unit digit of the product of all the 5 13&;(11)1131}3.3&31&%@@3&%;

Prime Numbers between 1 and (11)" UHGH BT PSP FqT 82
a.2 a 2 |
e ] ()

3 v &
d.1 d. 1 7@3 g" q__x\ )_ '

o
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TIME AND WORK

1. AfFftied Fr 10RAAFTISFATEAYT 1. A can do a piece of work in 10 days and B

B 3! &1 &1 20 i1 # Y PHar g1 ¢ F can do the same work in 20 days. With the
Heradr ¥, 4 39 &1 &1 5 &1 # R®1 Hd help of C, they finish the work in 5 days.
gl C B AP T B B R HA A How long will it take for C alone to finish
fa=T gHg aam the work?

a) 20fe= a) 20 days

b) 10feA b) 10 days

¢ 12f¢a ¢) 12 days

d) 15fea d) 15 days



TIME AND WORK

2. Afdft ord o1 20 AT A R woa1 21 T8 2. A can do a piece of work in 20 days. He
5 o1 9% 39 o1l B FIaT @ TP 9IS works at it for 5 days and then B
3R 10 e # B 30 o1d & W a1 21 A finishes it in 10 more days. In how many
3R B e 39 & &1 fba= fe=1 & qm1 days will A and B together finish the
B B 82 work?

a) 8@77 a) 8 days
b) 10fe= b) 10 days
o 12f&= ¢) 12 days

d) 6fea d) 6 days



TIME AND WORK

3. A TPt o @1 15 R A R WP g quT e 3. A can do a piece of work in 15 days and B
S Bl BT 20 feAT d H Wpar g1 A A can do the same work in 20 days. Both of
ST B YRH Hd ¢ Ald gl fod & 915 B them start the work together but B leaves
P14 B OIS a1 81 F fbaa T 4 qui after 2 days. In how many days the work

grm? will be finished?
a) 10 (2/3)f&= a) 10 (2/3) days
b) 9 (2/3) &= b) 9 (2/3) days
o 12f&H ¢) 12 days

d) T4 A DI 8l d) None of these



TIME AND WORK

4. A Tt rd &Y 25 feT A FY APar g aUTB 4. A can do a piece of work in 25 days and B
St &1d 3t 20 A d &Y w1 71 3 A1 can do the same work in 20 days. Both of
THATY BT YRH HId & Afdp B 1A & gof them start the work together but B leaves 2
g1 ¥ 4 &7 ugd Bis <a1 81 & fbaa days before the completion of the work. In

fe=1t & guf grm? how many days the work will be finished?
a) 10 (2/9) e a) 10 (2/9) days
b) 9 (2/3)fe= b) 9 (2/3) days
o 12(2/9)fe= ¢) 12 (2/9) days

d) 399 A BIg Al d) None of these



TIME AND WORK

5. fFdierddrA10feAid, B12f@ATAGUTC  5.Acandoa piece of work in 10 days, B in 12
15 ﬁ‘ﬁ H $HT IPHdl '?», ad 9t TSI G| days and C in 15 days. They all start the work
URYH $Hd ?-, dAfPa A 2 ﬁq & dig G| @3 together, but A leaves after 2 days and B
SAIEAUTB I & T{Uf HEEEACE R K ar] leaves 3 days before the work is completed. In
&1 DI gdl g1 o fpaq et o OxT g1 872 how many days is the work completed?

a) 5 ﬂ? a) 5days
b) 63 b) 6 days
c) 7 ﬂ’l ¢) 7 days

d) 8fe= d) 8 days



TIME AND WORK

6. A f&<ft &1d &t 10 fRAT 4, B3d 12 feAi # 6. A can do a piece of work in 10 days, B can
B 9Pd ¢l d TS B UR™ I § do it in 12 days. They start the work
P 3 tPiar fe=1 A 1d Fd g1 afe srd together but they work on altemate days. In
B WRY &dl g, df ®id fhax fa=t # quf gt how many days the work will be finished if

GITE? B starts the work?

a) 15fe a) 15 days

b) 113 b) 11 days

) 10 (5/6) fa= ) 10 (5/6) days

d) S’ﬂﬁ q aﬁi '-Tﬁ d) None of these



TIME AND WORK

7. fodlt el &1 T B | 7Y B SIS q 7. Manish takes twice as much time as Anuj

QAT SR & | 19 T Wy @ g and thrice as much as Vansh to finish a piece

tPay @ Fd B 1T A RT P qPd g of work. Together they finish the work in 1
s B kAl 4 | A9 gR1 feran mar Wy day. What is the time taken by Manish to

fea- 82 finish the work?
a) 6fea a) 6 days
b) 33 b) 3 days
o) 2fe c) 2days

d) 412-'1 d) 4days



TIME AND WORK

8. BT, fad® A T T PAA FRITR MR 8. Akash is thrice as good a workman as Vivek
s9fae fads ¥ 60 7 &0 9wg # &1d @1 and therefore is able to finish the job in 60
# H HHH g1 3 UP HIY B Hd g¢ days less than Vivek. In how many days will

fraq &1 # SH o1d &1 @1 B3 they finish the job working together?
a) 22v: fea a) 22%: days
b) 1% b) 11% days
c) 15% ﬁ? c¢) 15% days

d) 20 fea d) 20% days



TIME AND WORK

9. A P U fAféa o1 #3148 A 5 & aiftre 9. A takes 5 days more than B to do a certain
W ¢ IR I P B FA A c F 9 A job and 9 days more than C to do the same
P T T A SR B AT I B CH job. A and B together can do the job in the

WA GHY § QRT HX APd ¢ | A Bl 38 DA same time as C. How many days A would

# fra fa= @i take to do it?
a) 16fe= a) 16 days
b) 10f3A b) 10 days
o 15fe c) 15 days

d) 9fea d) 9days



TIME AND WORK

10. TP TR X 20% P14 8 {1  RTHTASAT  10. A person X can complete 20% of work in 8
& oMY guT afd v It &1l @71 25% 6 a1 days and another person Y can complete

# QRT 7 A&l ¢l i d TP 91y BT Y, 25% of the same work in 6 days. If they

al 40% 14 fFaa &A1 & @1 8 sreTm work together, in how many days will 40%
UPSC PT 2020 of the work be completed? UPSC PT 2020

a) 6 a) 6

b) 8 b) 8

c 10 c) 10

d) 12 d) 12



TIME AND WORK

".P, Qﬁ?ﬂqwaﬁﬁﬁﬂﬁmamP 11. P works thrice as fast as Q, whereas P and Q

Y Q U@ W1y fi@s? R & IR T it @ together can work four times as fast as R. If
P B WHd g1 i P, Q R R TH WY P. Q and R together work on a job, in what
freit wrd I Brd e €, dl 3% THE W ratio should they share the earnings?

3T P fw rguTa & |re HA1 AfRe? UPSC PT 2017

UPSC PT 2017

a)“ 32121 ) I8
D)r3:2:4 b)) 322 :4
c) 4:3:4 c) 4:3:4

d 3:1:4 d 3:1:4



TIME AND WORK

12. x 3gH! fdt &rd 3t 30 AT F TR 12. X number of men can finish a piece of work
ued gl afe 6 smeHt ft® gd, @ srd in 30 days. If there were 6 men more, the

10 {7 &0 | aTE 81 WHar 411 gl work could be finished in 10 days less.
¥ q& "en fFa 82 What is the original number of men?

a) 10 a) 10

b) 11 b) 11

<)’ 12 ¢) 12

d) 15 d) 15



TIME AND WORK

13. TS Suilax 300 flGAT H 15 fpM @it 98 13, An engineer undertakes a project to build a
R $t RGNS YF Fal § IR 39 road 15 km long in 300 days and employs

e & forg 45 @it #1 Fgea @var 2 45 men for the purpose. After 100 days, he
100 f&=1 & a1g, I/ 94 g1 & f W & finds only 2.5 km of the road has been

&ad 2.5 f&H 8 @ gsn g1 990 R i completed. Find the (approx.) number of
Tﬂﬁﬁ*ﬁ’ma@ﬁ»ﬂﬁ (@ TH) rfafve extra men he must employ to finish the
@ fga A g1, 91 Siferg| work in time.

a) 43 a) 43

b) 45 b) 45

c) 55 c) 55

d) 68 d) 68



TIME AND WORK

14. 15 3MEH! TP &TH Fi 210 G H R AR 14. 15 men could finish a piece of work in 210
aPd g1 b 100 f7 & 3@ #, 15 days. But at the end of 100 days, 15
sifaRaa sedt Faifora gia 31 &1d fsam additional men are employed. In how many
3R fe=1 & Q1 81 g more days will the work be completed?

a) 8ofe= a) 80 days
b) 60 e b) 60 days
c) 55fe c¢) 55 days

d) 50fe d) 50 days



TIME AND WORK

15. 0% Q@ St # 1,000 IS F CTF  15.1na garrison, there was food for 1000

e &1 M gt g1 10 A & arg, soldiers for one month. After 10 days,
1000 3R A% BTa-t & WA 8 91 7 1000 more soldiers joined the garrison.

¥d g¢ HIvH ¥ AP F9 aF I T How long would the soldiers be able to
LICOF carry on with the remaining food?

UPSC PT 2013 UPSC PT 2013
a) 25@? a) 25 days
b) 20f3A b) 20 days
¢ 15feA c¢) 15 days

d) 10f&a d) 10 days



TIME AND WORK

16. W?ﬂﬁﬁﬁm?l UISY A TP Bl U 16. There are two pipes in a tank. Pipe A is for
& fo g 3R UTSU B E®1 DI WAl HI1 & filling the tank and pipe B is for emptying

ﬁ"'{%l gfe A 3! &I 10 U | mm% the tank. If A can fill the tank in 10 hours
3R B B B 15 U | Wrelt H JPHal @ al and B can empty the tank in 15 hours then
ATe @t Dt B T{ﬁ ave ¥A | fpaq ge how many hours will it take to completely
N fill a half empty tank?

a) 304¢ a) 30 hours

b) 15%¢ b) 15 hours

c) 20 He ¢) 20 hours

d) }ﬁﬁ 3| m ;Tff d) None of these



HH: 10 e, 20 e 3R 25 4 H WX 9Hd g
Had tga 3 9t ve Wiy @i oa g1 v 2 we
& 9E, TAC P d¢ P RAT AT 3R A 3R B
H! 9T TG o1aT 8| Y °4e & 91g, 99 B 1
d¢ &7 feur war 81 A 1 aFd 99 A gRI
frar wirar 81 79 A R WU fRY W e #
wia=ra 3ra o)

a) 32%
b) 52%
c) 75%

d) 79 & B el

TIME AND WORK

17. TS cHI AT T A, BIR CE1 3 T Y

17. There are three taps A,B and C in a tank.

They can fill the tank in 10 hrs, 20 hrs and 25 hrs
respectively. At first, all of them are opened
simultaneously. Then after 2 hours, tap C is
closed and A and B are kept running. After the
4th hour, tap B is also closed. The remaining
work is done by tap A alone. Find the
percentage of the work done by tap A by itself.

a) 32%
b) 52%
c) 75%
d) None of these



TIME AND WORK

18.UIRU A MR BUS I WA RUS cHI Dl 18. Pipe A and B running together can fill a
6 e H ngl ﬂﬁ BHIdPhl WA H cistern in 6 min. If B takes 5 min more than

A ¥ 5 fiFe 3iftre sraT 8 ot A 3R B §RT A to fill the cistern then the time in which A
SHI B AAT-AAT UA H HUN: fHa and B will fill the cistern separately will be
Y A2 respectively?

a) 15 fiFe, 20 fi=e a) 15min, 20min

b) 10 f¥=e, 15 e b) 10min, 15min

¢) 20 fiFe, 25fFe ¢) 20min, 25min

d) 39H q P15 T8l d) None of these



TIME AND WORK

19.TH URU G URU S @ A AT ATAST 19, One pipe fills a water tank three times
q Ul @t Bt wRar g1 i AT ursy faster than another pipe. If the two pipes
fraey @t @t 3t 36 fFe # W 9Hd together can fill the empty tank in 36 min,

g, d A urzu A aFad ¢ B WA F then how much time will the slower pipe

fFa=T Iug am? alone take to fill the tank?
a) 1%4er21fi=e a) 1h21min

b) 1%cr48 fi=e b) 1 h 48 min

c) 24el c) 2h

d) 24er24fi=e d) 2 h 24 min



TIME AND WORK

20. afe 12 3meHt ok 16 9SS Sl Fd B 5 20. If 12 men and 16 boys can do a piece of

fe=i # ®Y 9@d g, 3R 13 et 3R 24 work in 5 days, and 13 men and 24 boys
asd S9 4 Al d & 9Pd g L' can do it in 4 days, compare the daily
3TeHT gRT fu W%ﬁﬁﬁl’&ﬁmw work done by a man with that done by
de® grI fay e e ard | Fifoe? a boy?
a) 1:2 a) 1:2
b) 1:3 b) 1:3
) 2:1 )21

d) 3:1 d) 3:1



TIME AND WORK

21.3 almﬁwmaﬁsﬁﬁﬁqmmm 21. 3 men can complete a piece of work in 6

?l 5 ﬂ%ﬁlﬁ 34l ®d &1 18 &A1 A T days. 5 women can complete the same
P IPHdl gl 4 gey MR 10 Afgame work in 18 days. In how many days will 4
ey St od &t fhaa =i o T men and 10 women together complete the
PN same work?

a) 3&7-! a) 3 days

b) 53 b) 5 days

c) Zﬁ? c¢) 2days

d afea d) 4days



TIME AND WORK

22. 6 AfgaNE 3R 6 et e faslt ard 22. 6 women and 6 men together can complete
&1 6 i1 # 1 = IFd g1 af 9 wfgang a piece of work in 6 days. In how many

APA I B B 10 fa=1 A ORT P gFHdl days can 15 men alone complete the piece
g, @ 15 et Fd IW F & fhaq of work, if 9 women alone can complete

fe=Ti 7 T HR g &2 the work in 10 days?
a) 6fe a) 6 days

b) 7.2feA b) 7.2 days

c) 5 f&a ¢) 5 days

d) S‘iﬁ P3| aﬂﬁ ?ﬁ d) None of these



23.8 %Y 3T 4 Hfgae fae fFdl sd H16  23. 8 men and 4 women together can complete
ﬁ’-ﬁﬁ‘[ﬂﬁmé‘l TP JoH gRT TP a piece of work in 6 days. Work done by a
&= # g mar 1 vs nfger grivs fe man in one day is double the work done by
ﬁf*‘?"&ﬁﬁﬁi’l’{ﬁl%l gfe 8 goy AR 4 a woman in one day. If 8 men and 4 women

AfRATE HTH BT L= B R 2 ag, 4 started working and after 2 days, 4 men left
goy P DI S 3R 4 E Iﬂ%’ﬁﬁ T Bt and 4 new women joined, in how many
oTe, ot pd fba fe=i | T RS ILRIF: more days will the work be completed?

a) 5 faq a) 5 days

b) 8fe b) 8 days

c) 6fe c) 6days

d) afes d) 4days



TIME AND WORK

24. A 31X B 5t o1d FY 100 39 & H32 &7

24. A and B undertake to do a piece of work

SHT AT A TR 5 a1 A HT wPpar ¢ iR for Rs. 100. A can do it in 5 days and B
B 39 10 f3T & &% WPa1 g1 ¢ Bt Fgran can do it in 10 days. With the help of C,
¥ 3 39 2 oAt F wurw #¥ 3@ 1 ¢ H

they finish it in 2 days. How much C

S e & g e yar e should be paid for his contribution?
ST 91 e?

a) 40 U4 a) Rs.40

b) 20302 b)'. Rs. 20

) 60 ITA ¢) Rs.60

d) 399 A BIs T8l d) None of these



TIME AND WORK

25. U 3MTGH! 3R TP dSd &I U 91y fu 25. A man and a boy received Rs. 800 as wages
¢S4 & foe 5 T & forg aeigdt & =u for 5 days for the work they did together.
# 800 ¥Ud fdt | A # I ATSHT B g&ar The man's efficiency in the work was three

de® | diF 71 ) a5F @t e Aegdt times that of the boy. What are the daily

frait 82 wages of the boy?
a) 76 30y a) Rs.76
b) 563U b) Rs.56
¢) 44309 ¢) Rs.44

d) 40 39d d) Rs. 40



TIME AND WORK

26. A, B 3¥ C 7 1800 $U Ft (19 TN TP 26. A, B and C completed a work costing Rs.

s RIfFaiAdefRA, BFafdmaiRc 1800. A worked for 6 days, B for 4 days
3 9 &7 o a1 ofg S=@1 ST da 5 and C for 9 days. If their daily wages are in
6:4F SUTd # g d A F fpaar ura the ratio of 5: 6:4, then how much will be
gIm? received by A?

a) 800%Ud a) Rs. 800

b) 600 ¥Ud b) Rs. 600

c¢) 900 %9l c¢) Rs.900

d) 750 3Ud d) Rs. 750



TIME AND WORK

27. 3o et wrd 31 12 @1 d I AP 8 27. Ajay can do a piece of work in 12 days.
3erg SR fad® A g Wy s @ Ajay and Vivek completed the work

R IF PAW: 54 I AR 81 FUY HI together and were paid Rs. 54 and Rs. 81
YA far man 3% @ 9y e @10 respectively. How many days must they
&Y | fbaq fe= @ g have taken to complete the work together?
a) 4fe= a) 4 days

b) 4.5 b) 4.5 days

c) 48feA c) 4.8 days

d) 34 4 BIg el d) None of these



TIME AND WORK

28. A, B 3R C $1 575 ¥UQ H 0P S I3 & 28. A, B and C are employed to do a piece of
f%rqﬁm’rha%mnmél A 3R c I B work for Rs. 575. A and C are supposed to
DI 19/23 HIT TP I PRT DT %' B &I finish 19/23 of the work together.
faa=it 1R 1 Ywrar faar smem Amount shall be paid to B is
a) 210399 a) Rs.210
b) 100 ¥Ud b) Rs. 100
c) 200 ¥Uq c¢) Rs. 200

d) 475 %9d d) Rs. 475



TIME AND WORK

29. Ud i fpdl drd &17/8 U121 @A H 29. A man completes 7/8 of a job in 21 days.

ORT AT g1 afe ®1d 50% | del &t oY How many more days will it take him to
dl 38 FH @A $1 H IR e e finish the job if quantum of work is further
T increased by 50% ?

UPSC PT 2021 UPSC PT 2021
a) 24 a) 24
b) 21 b) 21
c) 18 c) 18

d) 15 d) 15



TIME AND WORK

30. 24 U3Y 3R 12 wfgane fadt &1d &t 30 30. 24 men and 12 women can do a piece of
fe=i 7 % gPd 81 12 [ 3R 24 Higam work in 30 days. In how many days can12

I4l H1H &t fFaa &A1 d s 9@ '?-? men and 24 women do the same piece of
UPSC PT 2022 work?
UPSC PT 2022
a) 30fea a) 30 days
b) 30 e & srftrs b) More than 30 days
¢) 30feTdHHar30 R A aiftrw c) Less than 30 days or more than 30 days
d) &g W e Freeq & fore 3a d) Data is inadequate to draw any

g 8 conclusion



TIME AND WORK

31.A, B, C J@T-3(THT BTH Fd §Y (3 18 3T HA: 8, 31. A, B, C working independently can do a piece of work

16 3R 12 ﬁ'ﬁﬁ{ﬂﬂm?l Sl A HIHAR I in 8, 16 and 12 days respectively. A alone works on
BH HYAl ¢, HBAT B HITAAR B TH Bl 8, HPbal C Monday, B alone works on Tuesday, C alone works
qUaR B BT Bl ¢; A e & apan Wﬂ?ﬂ @l on Wednesday; A alone, again works on Thursday
PTH Bl § 3R T aE Tg HH SIR1 @l ¢ and so on.

Fafafes sy « fdar I Consider the following statements:

1. 9% $TH JeIdaR HI Q3T §1 S| 1. The work will be finished on Thursday.

2. g8 &4 10 &= & g1 81 sImem 2. The work will be finished in 10 days.

ST FYAI A | BI-91/3 Wl 8/82 Which of the above statements is/are correct?

UPSC PT 2023 UPSC PT 2023

a) &ad1 a) 1only

b) &dd 2 b) 2 only

) 13234t ¢) Both 1and 2

d JAd@1982 d) Neither 1 nor 2



THANK YOU!



